

次の計算をしましょう。

$$4km250m - 500m = 4250m - 500m$$

$$= 3750m$$

$$= 3km750m$$

$$\begin{array}{r}
4 & 3 \text{km} 200 \text{m} - 950 \text{m} = 3200 \text{m} - 950 \text{m} \\
&= 2250 \text{m} \\
&= 2 \text{km} 250 \text{m}
\end{array}$$

$$\begin{array}{l}
6 & 3 \text{km} | 00 \text{m} - 950 \text{m} = 3 | 00 \text{m} - 950 \text{m} \\
&= 2 | 50 \text{m} \\
&= 2 \text{km} | 50 \text{m}
\end{array}$$

$$7 2km450m - 700m = 2450m - 700m
= 1750m
= 1km750m$$

8
$$1 \text{km} 100 \text{m} - 200 \text{m} = 1100 \text{m} - 200 \text{m}$$

= 900m

$$9 ext{ 6km50m} - 500m = 6050m - 500m = 5550m = 5km550m$$